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QUESTION 1

What is the purpose of the captive portal URL hash key on an AOS-Switch?

A. It authenticates guest users based on the password the users enter hi the portal.

B. It encrypts and secures the RADIUS messages that the AOS-Switch sends to ClearPass.
C. It does not let users alter the URL that redirects them to the portal.

D. It specifies the captive portal URL and conceals the setting in the config.

Correct Answer: C

QUESTION 2

An administrator wants to use Airwave to manually add devices on the network. Where should the administrator perform
this action?

A. in Device Setup
B. in Groups

C. in AMP Setup
D. in Devices

Correct Answer: A

QUESTION 3
The administrator expects the AP to connect to a cluster, but the AP tails to connect. The administrator examines the

configuration of an AP from apboot mode shown in the exhibit. What can the administrator determine about the
configuration of the AP?
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apboot> printenv
servername=aruba-master

name=AFl

group=apgroupl

cert_cap=l

backup vap_init master=10.1.20.100
num_ipsec_retry=25

backup vap password=3A28BE43DEE256R
backup vap opmode=0
backup_vap_band=2

rap tfcp upgrade=0

cfg 1lms=10.1.10.10

stdinsserial

<-gutput cmitced->

A. The AP is configured to terminate on a non-cluster Mobility Controller.
B. The AP is configured as a RAP to terminate on a stand-alone controller.
C. The AP is configured as a RAP to terminate on a Mobility Master.

D. The AP is configured to terminate on a Mobility Controller in a cluster.

Correct Answer: C

QUESTION 4

Refer to the exhibit.
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Exhibit 2

Switch-1 partial running config
vlan 100
ip address 10.3.0.1 255.255.255.252
ip ospf area 0.0.0.3

#

router ospf

area 0.0.0.1

area 0.0.0.2

area 0.0.0.3

area 0.0.0.1 range 10.1.0.0 255.255.0.0 type summary cost 1

Switch-2 router ospf config

vlian 100
ip address 10.3.0.2 255.255.255.252
ip ospf area 0.0.0.3

#
router ospf
area 0.0.0.1
area 0.0.0.2
area 0.0.0.3
area 0.0.0.2 range 10.2.0.0 255.255.0.0 type summary cost 1
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A company has attempted to implement OSPF without success. The devices in Area | need to be able to reach Area 2.
Routes should be aggregated for advertisement in other areas. What must be changed to meet these requirements?

A. Change Area 3 to Area 0; remove Area 1 from Switch-2 and Area 2 from Switch-1.

B. Add the 10.2.0.0/16 range on Swttch-1 and the 10.1.0.0/16 range on Switch-2.

C. Add Area 1 and Area 2 on VIAN 100 on both Switch-1 and Switch-2. Remove Area 3.

D. Move the 10.1.0.0/16 range to Area 2 on Switch-1 and the 10.2.0.0/16rangetoArea 1 onSwitch-2.

Correct Answer: A

QUESTION 5

An administrator implements a standalone controller that runs ArubaOS 8.x. Which feature should the administrator
configure to optimize the RF operation for the company\\'s WLAN?

A. AirMatch
B. Clustering
C. ARM

D. Zones

Correct Answer: A
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